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DIJAGRAMI M,T,N u DIM-u 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Degrees of Freedom: 30 
 
 
Nodal displacements: 
 
  nd  u_i   v_i   phi_i 
-------------------------------------------------------- 
  1:  0  0  0.000709341 
  2:  2.45579e-06 0.000604506 -1.82111e-05 
  3:  4.66601e-06 0.000525235 -1.87187e-05 
  4:  7.1218e-06 0.000557396 3.61233e-05 
  5:  7.1218e-06 0.000579215 -5.65953e-05 
  6:  7.1218e-06 -1.28493e-05 -0.00057007 
  7:  7.1218e-06 -0.00221197 -0.0013847 
  8:  0  0  -2.84872e-06 
  9:  0  0  0.000149143 
  10:  0.000159837 0.000511308 0  
  11:  2.44215e-05 0.00051402 0  
  12:  -8.71267e-05 0.000538573 0  
  13:  -0.000188414 0.00050392 0  
  14:  0  0  -0.000138467 
 
 
Element end forces: 
 
  el  N_ij   T_ij   M_ij  N_ji   T_ji   M_ji 
------------------------------------------------------------------------------------------------ 
  G1:  -7.6385  79.4238  0  7.6385  -54.4238  167.309  
  G2:  -7.6385  24.6005  -167.309  7.6385  -2.10051  197.348  
  G3:  -7.6385  -2.6846  -197.348  7.6385  2.6846  190.637  
  G4:  0  -15.8721  -190.637  0  15.8721  154.925  
  G5:  0  -39.9665  -154.925  0  39.9665  65  
  G6:  0  0  -65  0  0  65  
  S:  39.9665  0  0  -39.9665  0  0  
  Š1:  56.2353  0  0  -56.2353  0  0  
  Š2:  40.9882  0  0  -40.9882  0  0  
  Š3:  32.1259  0  0  -32.1259  0  0  
  Š4:  33.1146  0  0  -33.1146  0  0  
  Š5:  45.4328  0  0  -45.4328  0  0  
  Š6:  29.8233  0  0  -29.8233  0  0  
  Š7:  4.78511  0  0  -4.78511  0  0  
  Š8:  8.03147  0  0  -8.03147  0  0  
  Š9:  24.0944  0  0  -24.0944  0  0  
  X2:  9.21579  0  0  -9.21579  0  0  
 
 
Reactions: 
 
  nd  R_x   R_y   M 
-------------------------------------------------------- 
  1:  -7.6385  79.4238    
  8:  0  39.9665    
  9:  39.7644  -39.7644    
  14:  -32.1259  -32.1259    

 

 


